C/m/)/ér‘ 5 | | @

At ¢ (- . @n-1)! n-1)!
/. (k-!) (k) (k-l)f'(n-k)" i k!@_/-k)_f

[

= n (D! _ 7! - (o?)
KT e k)] K

f

2. () / 9 3¢ 84 126 126 B4 3¢ 7
) Jo . 45 1zo 20 252 &0 120 #¥5 /o |
3 | "qo = ’_} d, = [ /n jenefé?/
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| + 35 (@207 + zt(zx) oY 7 @06 ()

o1z X - 448><Y 4+ €72 x5y - seoxty® 4 28 X3y

- &y x’y? 4 /44)(>~G -yt
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/0(05 /thrﬁéé’r &/Wﬂ/s ,9/! c/wds‘m o 7€ ant a/p k- 7§z>m 7’1/)//: s
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| m 'A’CS//'I’!CZZ_ é/ﬁm.enfs. Then
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25.a)172z” S= §a,a-,a, by, bw
CLEEC (""J("’Z)

_ 7
é;:;(m; 0;1;,; //cj(fr;j l ay f/c/cm n a; s
i s and e ke L1 4

iy
= Wo. of - subsels oF S
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@
75 je?( o cluller of srje we mmf/:/‘c,é one

suésef Fom cach cham. Now 3,43 & {2,913 are
7%6 OM/ suésefs H/I 7Z.e/r Céﬂ/ns - so we have
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T /ché Sz, 4} %ﬁm 7%:5 é /Zcﬁmn and {5,%}
o The 4-Hh chain
How | 2, 4% .@/IW’HM/CZ{@S fz} & {2,3,!;} i The
5. chain , i43¢& {/}2,#} in The ZM//*&A&?_J'M; and @4& |
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:j_df/b/?. So we have 73/0/I:é £, 43 m Yoo 2rd-
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/)fcé f/,B} f-mm The 2rd- céﬂm 4;4/ Srrce f/,
Q;.Z//M/)/ﬂdfef 517 & §h233 m B 14t chain  Sfrom
74/ Ho. wnﬂdé’r&tzzmw e  waunsl /0/&/4 f/,zj’ Srom
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éam(s/ be
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L os2,33 (/2,53 37,2 v} S5t $n3 43
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- clufler  of 2,3, - 00} .

E Jusl put X=X, = -

361!

Lokt e 4 A charn e it CY

fa c/m?fér &/ 3/36’ /c?} _M/e?
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!

w51 /9/}/6 f4 53

/. we /p/‘cé fy,s7 we w}// be
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/)W/ s very Similar lo fal i # 30.
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&(CA Q.W a/[ e
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i OVt A f/'ma n///f - N ff{e /d’rj&f C_/_w/fi’r a/
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=Xg=l o m e
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n n
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: oy 2z 5 & ‘ -
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42 First ohserve lhal Ho, of n-perm,_of [m,. 4, - Metlbegrmning
o Wi%ﬁ(:' MNo. of (n- )- per ’”‘j/ ((77}‘ 1Ty cey i o
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= Moo o (1) —perm. of [6,21).4, 728, o s i |

—

. “f Mo . ot @ "()/M”’”ﬁé U N (/e 1y L ) A
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étmcp?lé?" é : | @

/ Le,z‘ = sel of /1/11%’76’)’5 m [ 1. 16,008] v, by

A y Y
5 = i # 0 5"‘
C = _ 1 74 t é

Theu

Al= [ozee) ,  [#]=[220] , Jel= (Peze2]

(A28 ] = [/C’Mc’f’] [Bac | = 9000] ((,,A /D,ooo]

l2

ﬁﬂ&( '/’mgn(" = /0000]
éo_

50 . _o/! lmfe ers " U = (1 10,0,90—] #maf '

[ (aomocy’|

il

ave mol ivisible b/ 4,5 or &
= U= Al-Bl-c]l + |AnR]
| + |Bacl + (CnA | - [AnBaC
= 13000 — 2500 — 2000 - [666 + 500 |
+ 2333 + %323 — |66 = 5,33y

, For /%zsvchr;/s 0;4/7

E [@ZL d{‘ saf f /Mfé;ers ﬁeﬂ‘wéﬁ’ﬂ / cﬁ 10, o3 (/m/uj/Ve)
A= Sef 0/ /afné&z‘ sQuares U
| and B = sel of cuwbes n U 7 hen

[Al= [Veaw], (8] [Vawe], [Aeb|- [&/iwm]

se = [(AvB)] = (U]~ [Al-[8)+ |408)
, = /0,000 -~ (00 — 2] &
= 9,883



4Zaf Zr{; S‘&Zt 0/ d// /2'60Mé /)T[wa wémrw@

d
A = scet of 12-comb. of T u/z//}z/ > 5as g
B -~ . T . 24 6%
C = " n T v 25 C’s
D = . z T .« 24 d5s
Then Ul = (FLL7) = 4ss
O = [set of Tamb of T| = (TLET)= 20
1Bl = {se,{-'a,[ &~ comb. o T } = g+u-1\ = /65
(c{ = (se[ oaf 7-(omb.-aacT [ = "711-,) =120
4-1
D = [sef of 6-comb oF T| = bral) = 84
IAHB] {Sef of 3-comb. of T / (5 +4-I> ~ 20
(AaC! = [S’ef f 2. comb. le 2%4‘;‘:‘: = /0
(AnD} — R comb. o T - ,li‘:, -
_ {EmC[ = [ 3-com£, [ (34»4,) - 20
|BaDl = ' % 2 - comb. v | o 2_+4_;) = [0
[CaD ] = o« = cemb ] o aiw) =
. y -1
NaBaC = AnBaD = -.- = AnBaCad = @

7o, &f /2~ comb. of S = [44 3. 4(54]
= |(AUBUCUD> ]

~ (U] - (Al - |Bl- (]~ (D} + [AnB| +~(An€}
| + (AnDl + |Bac [+ (BnD] + [TnD)
YUSS— |20 — 165 - 20~ 8% + 204+ /0

+ 4 4 20 4+ 10+ ¥

1}

= 3¢



s et S'= [10.a, 4.6 5.c, 7.d] and | G2
7T o= (ﬂo. a, . b, w0 .C oop/]
;T/Lé’m 7%. o J0-comb 0/ S
) = Wo. of 0. comb of 8’

Mow fet U= set of all w-comb. of T
A = S‘eZ‘ of all 10 -comb. o/. 7 il = W oas

B = 1 " )0 ~ comb 0/7 w//[/ 2 5 6}
¢ - ‘ " /[0 - /a.m;/ df_T wil 2 ¢ ¢
D = ’ i 10 -~ Comb d7[7- WJZ ,2 s &/,f
Then il () o
A= f = Bac= Bad= LoD = .- = AtBaCaD
8] = sel of s comb. of 7 = f;‘j‘]") = 56
{C[ = f sel o/ Y~ lomb. of ) = 4:_3*-/) = 3¢
ol = | sel of 2-comb. 0FT| = (224) = 10
;570 No. of  10-comb .a/ s’ = /(/—\UBU.CuD)c/
= /H/ - (A’*IB)—/CZ*/D/# (AﬂB/v‘- ©apowm s e s ef/ﬁdgn(z])f

= 286 —~ O =~ 56~ 3510 4+ 0 F0 +71mis
= (85

o A0

Lelt a= clocolate &/myénuf
b =  c/nnamon af’alffjdnul(
C = /)/a'f'n ;[omiﬁnuz‘
p. of 6//'//67'6:@_{ Loxes of a 4&{5&4 c/duyénu/ﬂ"
o= Vs . af /2~ cowmb. 'of [6.62, é.éj 3.(:]

— -—

= - use He mellod m #¢. o



yAN/'3 of  solutions a/ Xyt Xy = MY .
‘ wen- Vlé"jdff'l/e /nzzc?j‘efs Mdf'@l’(é@ﬁ’/%/ g :
= %0- 0/ JUi ~ comb. &r/ [5’.4) £ 6 92¢, 5’0/]

= - (mse nethod of #4)

X Vo of solutions 2 £ 2,4 _'..71_7(9 - Iy
n '/9‘75'/:5""/5 ””Zlfjé’ﬂ‘ o M(eea/}nj g

| A v
= Wﬂ.a/ sa/uzl/'o'n: a/ Y+ -t y? = /0 Mf)é'H-Xf
% rion- Vlff- '/Mf-f’jé’fs ol M(fp//ﬂ;r? oV, s %

= No. of 10-comb. of [7a,76 7¢ 7.4]
- - - _(i(;e me%od’o,{‘#f‘)

B

(7 /?(Azt Vi) = X,_) -XZ:XZ', Ys+4¢ =Xy & }g,fz_: X}‘
- Then ' : .
Ne. of solutbions of x4 .. # Xy = 20

wilk ISX,86, 0$X, 87 4 X358, 25 Xy S6

i

Ys. of Solulions sf 'y/T«C/I'/Z-,L_.-.,ty’: /3
will 0SYys5, 08y, ST 0SYsY, 0sXs¥

I

Wﬂ. 0/ 13-comb. of [5'.??/ 7,6, ¢.c 44:’]
_ . e . : (d,(je me?‘/aafa/ #4)

/1.

: M Se 7%( /MC/MJ/M - Mc/u.r/‘wf /Dr/'nr/'f/e

' : : ITANNIN

s (f)sr - (1) 70 #(1)6! ~[f)s! +(4) 4,

[et (L= set of all permulations of §1.2,3,..., 9] cwd

425 = sel d/""// /pé)'n?. rr U ao’e’ﬁ Qi i els Wﬁf’wf'fﬂ//o/;?(;é,



/Z. _4@_5 (2> ‘ Dt‘;‘ = %l

g1 ¢l ot 2 3/ 4
1 |
/)/'ck four mi@jé}'s which : Démrﬂjé 72& 042/
will 90 m (hérr. mrll./?a:.' 4 }M_ fejr?rf

13 No. of pern. of {/,2,3).--}?} n which atleas! one
odd in f{jer is in s nalura/ /)ﬁ://faﬂ |
= Y. af/perm'. of F/,Z,g)--,‘if'
‘ 7 a/’/%_rm of £1,2,3.,9} In which oo
ﬁ// /%féft?f,/'sfn }7/r Mailurﬂ//ﬂﬂ.f/'//bﬂ

2" - [(g’) 9 - ()3 + ()70 - (5)¢ + 7)1 (5)#]

t

4,"/
This & similar ZIE /oraé/ém # /.

| | ' n-4
14 Ans: ny | = ! S0 N RS R A B |

o (k> Dn-k Kl (n-k>! ('03 12! e )(ﬁ:i;).’

o T y

: /;/c'/< Lt nlegers T Demyye The

g0 'ty Their mrf./ms. olher " n-t /'nfejer.s

/5’(&) D; = o JfWﬂyf &/ /ﬁm‘f}?}.'? e 7 bhats
‘; (b> /;174;: = Wa. pfwa73 of 7’@/ummj }m?zs

— Vo 0/ wa/ug N which wne wan
yece 'ves Liis pwn  hatl
= 7! - Dz

(e) Ans = 71 - D7 "(?) -Dé
Here (DD@ . w0 of W ays exxmf/y'/mm jd/ﬁ/k oeon hal .
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’40 Oﬁ fm "f ?/Io-Of perm. NNo.of perm No. éf perm
{flz ”]’ Wl'ﬂ\ ‘w'(ﬁ\ I m’"zler PP Wlﬂi Nn-| Wlﬂ\ "1
! 1) mfege::s in i its adl, 1viteaers in mf‘eaé'v:r rA
'r Haeir nat. pos. FOS'ﬁ””- | thei¥ nat pos their nat. pes.

- fotal mummber of /oermufaﬁan.r of {/, . w!

/7.‘, (7.._§..:£__+ 6, 5! e 5 T o (3. 2] 4 6.5, 41 £ 5 4!3);3{ :
i 3] 4_/ 21 L 127 YA FIH 2T ITqEEE 2l o

/? (W“’) [(”—'-2)-’ 4‘(’?-/)_! = (n-1) ﬁn—z7’][l+(n-l)J
= nln-r). (nz)' = n!
H”"’é Use Mﬁﬁéma//afz/ Zﬂ/acz[foxq
(a) Suppose n js odd . Then
- Dn = m-1). (th+Dn2>

LV

Lven m(—eer' nffjff‘
So Dn W/// be e(Zen Lo T a//g{

(A) We will prove #af Dok to odd for each k
| by 1rdes 7£f6’»’t 1 &

’k j DZ ={ ﬂma/ ‘S; ﬁfe 4’?3»&2 L
7’")’%8 76:/' ,é--/ '
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